@ Coy) Boa daO8eReE
DEOIMDSE RIEDEDR (N8 deCID - BEIOH SO

S2S® =Omvemw —2012
e gddm d¢mao-MCU 1205

MICA 1 @ e (02)
emc ¢ 2013.01.12 6dE1® 3.9, 2.00-3.2. 4.00
oecdd ¢

e gdn ecwd (02) 8gnc; Borin.
D@00 HOEHP BE ENHBD VFD GIiy IO BE V.

(@)

(@)

SHD D) S ODEDe e MIeTRed éaeqeje D00 BeHer] emecds?

(i)
(iii)
(iv)
Y]

- 9CE® | ww® ddeCrein MO wId Suns WSTD.
(i)

B ednm ey BTIOEE OEP0 MDD HCBIB® CE. IV wem

eDECSE

GSHD DHROC BOC PHC BB C2. D DI 3T EDETCBE

gloeodled as® 000 gung @B C2. ece emlem wHly e

eDETBe

D08 BC e & 2. egcomca @&y Iee) @aecae

@doCc B¢ sunm 8D e% @@e" @c:!’ r:se‘;em @8@6:63@
o (cwe 20)

‘X eow‘%@é:ﬂ PCEE® ©® 8@ BB D T FD.

0,=84-6p 0, =-16+4p

e 618:5@7@@&5@‘, serenc Smem 1000 F 2 @,

)
(i)

(iii) -

(iv)
)

(vi)
(vii)

BenBD qodNed BC i TVIFG DG BSTD.

o 88w or.8/- » sde cerdm dew I»yed 5)@ o8 edd»
SBOD »oede? SHS DSTD.

X’ meFned mednm oehdnn B8C 9ne i@ B, ‘X' ;mielan e
ofdee S 5 B9 cond ged O, wenltsn §oudded 8 o odge
DEFBSE DS,

Sdw S8y wBWn C¢ 5@ JPHEDOR I1.2/- ® AW ILIHed BH®,HD
COPE® qOeIded BC ») JOEW ®IEHN DSTD.

GBED 5@ TODEDOV SHw DBY S.2/- » AL OPPD SBwE 1/- ®»
SHmNSEW ecdles] ©8, (iv) emOwD 2 #B 8ns eond odies
eecde?

St 888 orll/- » o eemBHm @ezsi’ S0 Cded »®, 8 ¥3d®
DO DOede? SO 68 wem ¢ 8¢ ¥ SWE® B E?

O o o@m 100,000 e18eniBmas genenons, 1000 ©5sEd@ms o5
gy BO9es] 5O edgese PEE® wr 3@ D EEIEHD.
(B&no| Bedms V30O S 5e0HsE 9B WSHD.

5@ Bwoc weme @Rs 2 ¢ 9de® wm SE® wdmsen ©I1dm
DSHB).) (emes 30)



(@

()

(qo)

(@)

(@)

(&)

DHOBDN oSG HOIBND Bedm PO, WEEMWIEIND OCHE IHHED
B BV GOWS OB GHICO (LINSF 010D I Bdno oD,
' (cwpes 20)

29D ceed gmaus ‘Gose’ ‘guose’ 80 Sund Bnon.

() oeEonm @ae® 9CE® »OImOB e (-) §uun ozes 9® e
€D IC BITHRIE. ‘

(i1) osion cem e 9O DHEIMOO CHMEnD 918 dwnewsl BH@s 9.

(i) gde »es géeew w&D MTFTVIND HSE® oW o> g 89, g9 g
D@ 8enIBwmen) 885 &8 Yud.

>iv) D e OB #edn BH3e® HBO OB 6d¢, DO MED 6CH
a0 03 8c 9EE® HEIMOB ¢ 9B FOIW OB.

(cae 20)

X'y’ 01D o€ oCe® wdnosen sud ¢ F».

0, =48-4p, 0,=72-8p,
(1) Be o1 o g 89, X ¢y <D OC 8C 9CEe DHOEIE BB
DS,
(i) X’ @'y NETD08Y Can NG 0@ BIBO B, gare MIGDIE Be
comd me wied emede? Swond O wsd®y dudns vodin.

(eney 10)

() odBe guesidm dedeenmd (woam @owm - Cardinal utility) ans,
N8enIBm COREHNOE CH WS Oen Nen HUOGE  WOenIc?

Bedos DSsIm.

(i) Xy omelose asdn cuewsi@mos sum ¢ .
gOrEe 1 |2 [3 [4 |3 6 |7 |8
MU, ~ |44 |40 |36 |32 |28 24 |20 |16
MU, 54 48 |42 36 30 24 18 12
X welned Jnmam e o 4/-, Yy oeoed Swmon 8c .6/

SBexniBnwded @eIE® S1.58/- »H® H8enIBn madHo OBZ® B»IH
XY IHDOC YDA DEDE DOHID. (e 18)

(i) X’ 'y oegooe 8¢ dNoso «odm 80 =13emldn @arse Sp.48/-
Q ged 28, =CemiBm mIdBe Ede mS® ‘X MYy oeHDoe
SOIFIBE OB WSED.

“oedme) oy Sdeduenco epwed, ©I18enidn ORED Cmwis Wy, BC Onw,
OPewIdmn OPumd Gudwon GNHHER”. @8 IBHHEDS? S EEOHNE $MDD)
DB deIns wssim. (enen 12)

S0 8 BS®Y s IMIGGE ‘GoBe’ ¢ FEDBE’ DO SRR BITs.
6)] ool 0g OBemn cededemes i .
(ii) (o) 0meO OB B Bdwa H B,
(iii) eI MEDOD Pend B PaN® IBH8HIB OB o O5.
(coe 20)
- B8 gd3H -



THE OPEN UNIVERSITY OF SRI LANKA

BACHELOR OF MANAGEMENT STUDIES ~ Level 3
ASSIGNMENT TEST - 2012

MICRO ECONOMICS — MCU 1205

DURATION TWO (02) HOURS

DATE: 12" January 2013 TIME: 2.00pm — 4.00 pm

Answer any TWO (02) questions.
* (Use of non programmable calculators are allowed

(1) a) How will the following changes affect the market conditions of the relevant good?
Explaln using Demand/Supply analysis.

Adverse weather conditions affected the vegetable cultivation, market for
vegetables.

Price of steel sheets has gone up, market for steel cupboards.

The income level of people has gone up, market for washing machines.
Price of news print has come down, market for exercise books.

Price of fish has come down, market for chicken.

(20 Marks)

b) The demand & supply equations of a commodity ‘X’ given as,

Qd=84—6p Qs=—16+4p

Price in Rs. and Quantity in 1000 units.

i.
ii.

iif.

vi.

Vii.

Find the equilibrium price and quantity.
Suppose the government imposes a maximum legal price at Rs.8/=, what will be
the economic consequences of this? Explain.
Suppose the price of a substitute good of good %’ increases and this has
changed the demand for good ‘%’ by 5 units. Find the equilibrium price and
quantity.
If the government lmposes a tax of Rs.2/= on every unit that is bemg supplied,
find the new equilibrium price and quantity?
How will the answer to part (iv) change, if the government provides a subsidy of
Rs.1/= for every unit that is being supplied, instead of the Rs. 2/= tax?
If the government imposes a minimum legal price at Rs. 11/= what will be the
economic consequence of this? How much will this cost the government?
If there are 100,000 identical consumers and 1000 identical supplies find the
market demand & market supply. ,
(Use illustrations to explain your answer. For every step consider the initial
demand & supply equatlons)

(30 Marks)



(2) a)

- b)

() a)

b)

Providing examples, explain how the knowledge on the Concept of Elasticity will
help a manager in making effective business decisions.
' (20 Marks)
Explain whether the following statements are ‘true’ or “false’. :
i) Ifthe Income Elasticity of demand of a product has minus (-) value,
then the product is an inferior good.
ii)  Price Elasticity of demand for fuel in the long run is more elastic.
iii) When a supply tax is imposed on a product that has a perfectly elastic
demand, the entire tax burden is borne by the consumer. ,
iv) - The higher the substitutability of two goods, the higher is the value of
Cross Price Elasticity of Demand.
(20 Marks)
The demand equations for good ‘x" and ‘y’ are given below..
Qu=48 — 4D, Qy=72 - 8p,
P, Price of good x P, - Price of good y

i) Find the Price Elasticity of Demand for good x and y, at the price Rs.4/=.
ii) If the revenue earned from good ‘x’ and ‘y’ is to be increased, how should
the price of relevant good be changed. Explain using illustrations.
' (10 Marks)
i According to Cardinal Utility analysis at what condition is the Consumer
' Equilibrium achieved? Explain. B

ii. Marginal utilities of goods ‘x” and ‘y’ are given below.
Quantity | 1 2 3 14 |5 |6 |7 |8

MU, 44 140 (3613212812420 16
MU, 54 148 |42 |36 |30,24 (18| 12
Unit Price of x = Rs. 4/= Unit Price of y = Rs.6/=

If the consumer income is Rs.58/=, find the quantities of goods x and y
that will maximize consumer satisfaction. '

iii. If the consumer income drops to Rs. 48/= while the price of goods x and
y remains the same find the quantities that will maximize the consumer
satisfaction. (18 Marks)

“According to Indifference Curve analysis, the consumer equ'ilibrium is the point
where the budget line is tangent to an indifference curve” do you agree? Explain
using illustrations. ' (12 Marks)

Using illustrations explain whether the following statements are ‘true’ or ‘faise’.
i} Indifference curves can cross each other.
ii} Indifference curve can be positively sloped.
iii) The Substitution and Income effects of a normal good are positive.
‘ (20 Marks)
-Rights Reserved-
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